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Pre-Algebra Period: Date:

Review for the test on : Volume
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What is the formula for volume of a cylinder:

What is the formula for volume of a cone:
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What is the formula for volume of a sphere:
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What is the formula for volume of a hemisphere:

Directions: Show all work for partial credit. Round answers to the nearest hundredth when needed.
Remember to label answers.
1. Melissa’s soccer coach used two cones of different sizes during practice. Melissa says that the two

cones have the same volume. Do you think she is correct? Explain your reasoning. Use your
calculations to justify your answer. (5 pts)
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2. Sugar Plum Candy Company came up with 2 different shapes for lolly-pops. One is in a shape of a
cylinder with a diameter of 3 cm and a height of 7 cm. The second one is in a shape of a cone with
a radius of 4 cm and a height of 9 cm. Your Mom thinks that the cylindrical lolly-pop has more
candy, where as your Dad argues that the cone has more candy since it’s longer. Who is right?
Explain your reasoning. Use your calculations to justify your answer. ( 5 pts )
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3. Rick is asked to find the volume of a sphere with a diameter of 14 centimeters. Explain and
correct all his error(s). (4 pts)
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4. A Soup company makes two different cylindrical cans, each with the same volume. Can Ahasa
height of 12 centimeters and a radius of 6 centimeters. Can B has a radius of 4 centimeters. What

is the height of Can B? (4 pts)
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5. Four identical tennis balls with an 8.42 cm diameter are stacked in a ¢ylindrical container.
Assume that the tennis ball touches the sides of the container. Calculate the volume of the

cylindrical container. (4pts)
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What is the height of the container? _~

What is the radius of the container? 1.7 [
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The volume of the container is




6. Avian Club is selling cones of birdseed that can be hung outside. The birdseed weighs about
Jgrams per cubic centimeter. (4 pts)
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b. What is the approximate weight of one cone?

7. An above ground cylindrical swimming pool has a diameter of 20 feet and a height of 5 feet. About
how many gallons of water can the pool contain? Round your answer to the nearest whole
number. (1 cubicfoot=7.5gal) (4 pts)
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8. This university science lab is in the shape of a hemisphere that has a radius of 15.7 feet. Find the

volume of the hemisphere. ( 4 pts) 2
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g, A Cumberland Farms has two different sizes of cylindrical-shaped drink cans on sale.

Mountain Dew

Sale price $ 4.75

Code Red

Sale price $ 5.00

6 cm diameter

6 cm diameter

15 cm tall 17 cm tall
a. Find the volume of each drink can. ( 4pts )
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b. Which drink is a better buy? Justify your reasoning with calculation_s_._ -
(Hint: compute unit rate) ( 2 pts) Sl
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10. Essential Question. : How can the calculations of cylinders, cones and spheres be useful to people in
the real world? ( 2 pts)
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